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Calculators Allowed:

What is the sum of the series?
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5) If the infinite series Z a™ has nth partial sum S, = - (4" — 1) forn = 1. What is the sum of the series?
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10) The nth-Term Test can be used to determine divergence for which of the following series?
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12) Use the Integral Test to determine the convergence or divergence of the series Z —
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Prove the Integral Test applies to the series
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| 15)  For what values of p will the infinite series Z —— converge?
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Determine the convergence or divergence of the series.
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17) Which of the following is a divergent p-series?
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14) Use the Integral Test to determine if the series Z TaEgq converges or diverges.
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18) ‘Which of the following series converges?
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19) Which of the following series can be used with the Limit Comparison Test to determine whether the series
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4 25) ‘Which of the following statements is true?
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A. The series converges conditionally.
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C. The series converges but neither conditionally nor absolutely.

D. The series diverges.
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